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D

Qn.1 ﬁ\;
Correct Answer: B. 1 and 3 only l\Q‘

Explanation: @

o Statement 1 is correct. GFCF reflects (gx?ents in fixed assets such as machinery,
infrastructure, and buildings, contributing to economic growth.
o Statement 2 is incorrect. GFCF && es financial assets; it focuses on physical and

tangible fixed assets.
o Statement 3 is correct. Hig indicates robust investments in productive assets,

fostering economic e@p
S
Qn.2 Q&
Answer: &,}S—S\amj 4

Explanat

T %@ GDP growth for FY25 has been the result of a cyclical slowdown in the Indian
e& y in the past three quarters.
Apart from that, some of the factors affecting growth were:
1. Strong base effect,
2. General elections,
3. Weak private sector capex and
4. Monetary and fiscal tightening
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Qn. 3

Answer:b (1&2)
Correct Answer: A @

Explanation: v
o Statement 1 is correct because Bharatpol was indeed developed by t e® facilitate

seamless coordination with Interpol.

o Statement 2 is correct as Bharatpol aims to reduce delays by c g agencies directly
to Interpol. %

o Statement 3 is incorrect because Bharatpol is not necess@r?ended to replace all other

forms of communication but rather to complement a ine international
coordination.

Qn. 4 ’\
Answer: (b) @@
A

Explanation:
@'&u‘ea around the borders of China, Laos, and

¢ The Golden Triangle refe
Myanmar, which is @S}r infamous for its association with drug trafficking and

opium productiin%.Q
Qn. 5
SO

b) O 2

conferences to foster collaboration among stakeholders. It is an independent global
initiative, not affiliated with the United Nations..

k‘nation:
*ﬁA maintains a scam database to monitor global fraud activities and organizes

B 36, SECTOR C, ALIGAN]J, LUCKNOW-9415011892 Page 2



